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TRADE TEST FOR CRAFT INSTRUCTOR
(MODULAR PATTERN)
 APRIL-2012

TRADE: WIREMAN TIME: 3HRS.
SUBJECT: TRADE TECHNOLOGY - | MARK: 75
SUBJECT: THEORY

Note: - Attempt all questions.

1. Choose the correct answer.

(i)

(if)

(iii)

(iv)

(vi)

{vii)

(viii)

(1X15 Marks)

The e.m.f. of a D.C. generator depends on

A. Commutation C. Frequency
B. Speed D. Brush Contact drop.

Which of the following types of the generators gives the constant voltage output at all

loads?
A. Series generator.

*B. Shunt generator.

C. Short shunt compound generator.

D. Level compound generator.

A transformer operates

A. Always at unity power factor.

B. Has its own power factor.

C. At power factor below a particular value.

D. At power factor depending on the power factor of the load.
The voltage transformation ratio is

A. E1/E2. . C. E2/E1.

B. N1/N2. D. N2/N1. .

The voltage stipplied by one cell of a lead acid battery is

A. Approx. 0.8 V. C. Approx.1.6V.

B. Approx.1.2V. D. Approx.2V.

Which of the following does not influence the strength of an electric shock to a human
body?

A. Duration of the current flow.

~B. Ambient temperature.

C. Voltage.

D. Strength of current.

Distilled or approved water is used in electrolytes because it

A. Speeds up electrochemical action.

B. Prevents or slows down electrochemical action.

C. Improves specific gravity.

D. Prevents Polarisation.

Total resonant in a parallel circuit consisting of R, Land C, is obtained by the current of

each branch is | '
A. The Same. C. Added vectorially.
B. Added. D. Subtracted.
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-{ix) Which of the following motors is most suitable for signaling devices and timers?
A. DC series motor.
B. DC shunt motor.
C. Two phase induction motor.
D. Reluctance motor.

(x) The field of an induction motor rotor rotates with reference to stator at

A. Synchronous speed.
B. Slip speed.
C. Rotorspeed.
D. Very low speed.

2. Write short answer on any five of the following: (4x5= 20 Marks)
a) What is a HRC fuse and why should we use the same?
b) What are the advantages of the “Slip Ring induction motor” over “Squirrel Cage
induction motor”?
¢) Define “Kirchoff's Law”.
d) What are difference between Primary and Secondary Cell?
e} What are the reasons when D.C. Generator fails to build up voltage?

f) Whatisa “Choke”?
3. Answer any four of the followings: (10x4=40 Marks)

a. What are the requirements for safety while working on electrical installation?

b. What are the advantages of the polyphase alternators?
A three phase, 8-pole induction motor runs on 50Hz supply. The rotor bar current
makes 150 complete cycle/minute. Find the speed of the rotor.

d. What are the specialties of the Nickel-Iron cell?
e. What are different methods of speed control of D.C. motor? Explain any one.
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